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Parts (2)

1 Tools

1 Complete the crossword. Find a twelfth word in the puzzle.

z =
; e
: -
L A

-~ /@ﬂ

10 frm—

: 4

2 Write the answers to the puzzles. Use each item once.

hammer pair of pliers  pair of scissors saw  screwdriver spanner

It has a handle, a shaft and a head. It turns screws. It is a screwdriver.
It has a shaft and a head. It drives in nails. It is a

It has two handles and two blades. It cuts paper. It is a

It has a shaft and jaws, but no blades. It tightens nuts. It is a
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5 It has two handles, jaws and blades. It cuts wire. It is a
6 It has a handle and a blade. It cuts wood. It is a

3 Use the words in the box to complete the dialogues.
do does dont doesn't have has

1 A Carlos need a spanner? 2 A you have a hammer?
B: No, he X B: No, | :
A: he need a pair of pliers? A you need a hammer?
B: Yes, he " B:Yes, 1 ____.
A: Does he a saw? A:ldon't one. Go and ask
B: Yes, he two. Pedro. He one in his

tool box.




